O ANUERIEOD X7 2 —IL

B | BER | % | R AT 21— )LAR
&
1 x AT & 9:00 |RE&=Z
HEER
& 1045 [REFE
2 7K
3 ZN BT 11:45 |EEFE
& . ) —p
4 & SIHE 10:00 |[ERZS
5 + HEER | 1500 |HHE=HEmm (KAL)
6 H
& .
7 A S E 10:00 |[A#L
8 X BETE | 10:00 |[FEHVY
9 7K
10 N
11 & BT & 16:00 |HEFE (AL1RH)
12 +
13 H
14 A
15 X
16 K| X OV . e
gIETR | 1000 |HERIZE=FIEEH= (£H16: 00X THOFE)
17 A HEE
18 &
19 +
20 H
21 A
22 X
23 7K
24 N B 11:45 |BFE
25 & BT & — | FEHY
26 +
27 H
28 A BT & — |FEHY
29 X BT & — | FEHY

30

7K

XA 1—)LIEE

PP WL R I Y N VEES




